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In the example below, a connector is used to avoid drawing a long edge around one tine of the fork. If a problem is not 

priority one, the token going to the connector is sent to the merge instead of the one that would arrive from Revise Plan 

for priority one problems. This is equivalent to the activity shown in Figure 12.44, which is how Figure 12.43 is stored in 

the model.

Package CompleteActivities

The figure below illustrates three examples of using the weight attribute. The Cricket example uses a constant weight to 

indicate that a cricket team cannot be formed until eleven players are present. The Task example uses a non-constant 

weight to indicate that an invoice for a particular job can only be sent when all of its tasks have been completed. The 

Figure 12.43 - Connector example

Figure 12.44 - Equivalent model to Figure 12.43
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